

Bachelor of Technology in Engineering Physics, I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

AEC2 : Appreciation of Poetry & Prose AP101 : PHYSICS - I CH103 : UNIT PROCESS IN ORGANIC SYNTHESIS EE105 : BASIC ELECTRICAL ENGINEERING -II ME101a : COMPUTER AIDED ENGINEERING GRAPHICS-I

Sr.No	Roll No.	Name of Student	AEC2	AP101	CH103	EE105	ME101a	SGPA	тс	CGPA	Failed Courses
51.140	HUI NO.		2.00	4.00	2.00	4.00	4.00	JULA		COFA	Falled Courses
1	23/EP/128	PARTH LAMBA	Α	A+	B+	Р	В	6.63	16		

AEC4 : Business Communication and Presentation Skills AP101 : PHYSICS - I CH103 : UNIT PROCESS IN ORGANIC SYNTHESIS EE105 : BASIC ELECTRICAL ENGINEERING -II ME101a : COMPUTER AIDED ENGINEERING GRAPHICS-I

Sr.No	Roll No.	Name of Student	AEC4	AP101	CH103	EE105	ME101a	SGPA	тс	CGPA	Failed Courses
51.140	HOILING.	Name of Student	2.00	4.00	2.00	4.00	4.00	JOFA		COFA	Falled Courses
2	23/EP/120	AMAN GIRI	Α	В	Р	B+	С	6	16		

AP101 : PHYSICS - I CH103 : UNIT PROCESS IN ORGANIC SYNTHESIS EE105 : BASIC ELECTRICAL ENGINEERING -II ME101a : COMPUTER AIDED ENGINEERING GRAPHICS-I VAC11 : Leadership Through Self-Management

Sr.No	Roll No.	Name of Student	AP101	CH103	EE105	ME101a	VAC11	SGPA	тс	CGPA	Failed Courses
51.110	non no.	Name of Student	4.00	2.00	4.00	4.00	2.00	SULA	10	COFA	Talled Courses
3	23/EP/122	ARYAN VATS	Р	В	С	F	B+	3.88	12		ME101a

AC101a: APPLIED CHEMISTRY AEC1: Appreciation of Fiction AM101: MATHEMATICS-I AP101: PHYSICS - I BT103: APPLIED AQUACULTURE EC101: BASIC ELECTRONICS & COMMUNICATION ENGINEERING

(Hadhukag ..

OIC (Results)

L Jung



Bachelor of Technology in Engineering Physics, I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

Sr No	Sr.No Roll No. Name of St 4 23/EP/139 ROBIN SINHA	Name of Student	AC101a	AEC1	AM101	AP101	BT103	EC101	SGPA	тс	CGPA	Failed
	Name of Student	4.00	2.00	4.00	4.00	2.00	4.00	JULA		COFA	Courses	
4	23/EP/139	ROBIN SINHA	С	Α	Р	В	A	С	5.6	20	5.6	

AC101a: APPLIED CHEMISTRY AEC1: Appreciation of Fiction AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING -II EP103: ENGINEERING PHYSICS WORKSHOP-I

Sr No	Boll No	Name of Student	AC101a	AEC1	AM101	AP101	EE105	EP103	SGPA	тс	CGPA	Failed
Sr.No Roll No.	Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	JGFA		CGFA	Courses	
5	23/EP/105	UDIT LOHANI	В	B+	С	В	Α	A+	6.6	20	6.6	

AC101a: APPLIED CHEMISTRY AEC10: German AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING -II EP103: ENGINEERING PHYSICS WORKSHOP-I

Sr.No	Roll No.	Name of Student	AC101a	AEC10	AM101	AP101	EE105	EP103	SGPA	тс	CGPA	Failed
31.110	HOILNO.	Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	JULA		COFA	Courses
6	23/EP/020	ARHAAN	В	В	B+	В	Р	Α	6	20	6	
7	23/EP/025	ATHARWAN RAGHUANSH	В	Р	Α	Р	Р	Α	5.6	20	5.6	
8	23/EP/071	PRANAV KUMAR	A	A+	B+	A	A	A+	8	20	8	
9	23/EP/103	TARUSH J SINGH	B+	В	С	B+	B+	B+	6.5	20	6.5	
10	23/EP/111	VIKAS JHA	A+	A+	A+	A+	A	A+	8.8	20	8.8	

fadhukag ..

OIC (Results)



Bachelor of Technology in Engineering Physics, I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

AC101a : APPLIED CHEMISTRY AEC11 : Soft Skills and Personality Development AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING - II EP103 : ENGINEERING PHYSICS WORKSHOP-I

Sr.No	Roll No.	Name of Student	AC101a	AEC11	AM101	AP101	EE105	EP103	SGPA	тс	CGPA	Failed
51.10		Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	JULA		COFA	Courses
11	23/EP/016	ANKIT SALHAN	B+	Α	В	С	С	Α	6.2	20	6.2	
12	23/EP/022	ARPIT KUMAR	Р	Α	Р	Р	Р	A	4.8	20	4.8	
13	23/EP/081	RISHI KESHAV	B+	0	В	C	A	B+	6.9	20	6.9	

AC101a: APPLIED CHEMISTRY AEC12: Japanese AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING -II EP103: ENGINEERING PHYSICS WORKSHOP-I

Sr.No	Roll No.	Name of Student	AC101a	AEC12	AM101	AP101	EE105	EP103	SGPA	тс	CGPA	Failed
51.140	HOILING.	Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	JGFA		CGFA	Courses
14	23/EP/036	DHRUV KUMAR	С	B+	Р	С	F	Α	4.3	16		EE105
15	23/EP/083	RUHANI GAHLOT	В	C	Р	Р	B+	A	5.5	20	5.5	

AC101a: APPLIED CHEMISTRY AEC13: Logical Reasoning AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING -II EP103: ENGINEERING PHYSICS WORKSHOP-I

Γ	Sr.No	Roll No.	Name of Student	AC101a	AEC13	AM101	AP101	EE105	EP103	SGPA	тс	CGPA	Failed
	51.10	non no.	Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	JULA		COFA	Courses
Γ	16	23/EP/004	ABHIDEEP JAIN	A+	A+	A+	B+	С	A	7.7	20	7.7	
	17	23/EP/072	PRATEEK BHARDWAJ	С	A+	B+	A	B+	A	7.1	20	7.1	

Hadhukag ..

OIC (Results)



Bachelor of Technology in Engineering Physics, I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

18	23/EP/110	VIHAN PANWAR	С	Α	B+	B+	B+	Α	6.8	20	6.8	
19	23/EP/118	NITHYA AJAYAN	0	0	A+	0	0	B+	9.5	20	9.5	

AC101a: APPLIED CHEMISTRY AEC15: Public Speaking AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING -II EP103: ENGINEERING PHYSICS WORKSHOP-I

r No	Boll No	Name of Student	AC101a	AEC15	AM101	AP101	EE105	EP103	SGPA	тс	CGPA	Failed
Sr.No Roll No.	Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	JULA		CGFA	Courses	
20	23/EP/109	VANSH GUPTA	A+	A+	A+	A+	0	0	9.3	20	9.3	

AC101a: APPLIED CHEMISTRY AEC19: Technical Communication AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING -II EP103: ENGINEERING PHYSICS WORKSHOP-I

Sr.No	Roll No.	Name of Student	AC101a	AEC19	AM101	AP101	EE105	EP103	SGPA	тс	CGPA	Failed
51.140		Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	JGFA		CGFA	Courses
21	23/EP/040	GUNMAY JHINGRAN	В	С	B+	С	Р	B+	5.6	20	5.6	

AC101a: APPLIED CHEMISTRY AEC2: Appreciation of Poetry & Prose AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING -II EP103: ENGINEERING PHYSICS WORKSHOP-I

Sr No	Roll No.	Name of Student	AC101a	AEC2	AM101	AP101	EE105	EP103	SGPA	тс	CGPA	Failed
Sr.No	noi No.	Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	JOFA		CGFA	Courses
22	23/EP/002	ABDUL SAMAD	Α	A+	B+	В	Р	0	6.9	20	6.9	

fladhukag ..

OIC (Results)



Bachelor of Technology in Engineering Physics, I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

AC101a: APPLIED CHEMISTRY AEC3: Appreciation of Short Stories AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING -II EP103: ENGINEERING PHYSICS WORKSHOP-I

Sr.No	Roll No.	Name of Student	AC101a	AEC3	AM101	AP101	EE105	EP103	SGPA	тс	CGPA	Failed
51.110		Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	JOFA		CGFA	Courses
23	23/EP/012	AMIT KUMAR	B+	0	С	B+	С	0	6.8	20	6.8	

AC101a: APPLIED CHEMISTRY AEC5: Communication Skills AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING -II EP103: ENGINEERING PHYSICS WORKSHOP-I

Sr.No	Roll No.	Name of Student	AC101a	AEC5	AM101	AP101	EE105	EP103	SGPA	тс	CGPA	Failed
51.140		Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	JGFA		COFA	Courses
24	23/EP/013	ANANYA AGRAWAL	В	Α	В	Р	Р	Α	5.6	20	5.6	
25	23/EP/018	ANSH GOEL	A+	Α	0	0	B+	A+	8.9	20	8.9	
26	23/EP/031	CHAITANYA YADAV	В	A+	Α	В	С	Α	6.7	20	6.7	
27	23/EP/073	PRATYUSH KANT RAJ	В	B+	В	B+	B+	Α	6.7	20	6.7	
28	23/EP/106	UJJWAL YADAV	B+	B+	Р	B+	B+	B+	6.4	20	6.4	
29	23/EP/115	YASH KUMAR SINGH	В	C	Р	В	В	A	5.7	20	5.7	

AC101a: APPLIED CHEMISTRY AP101: PHYSICS - I CE101: BASICS OF CIVIL ENGINEERING EN103: WATER AND WASTEWATER ANALYSIS VAC11: Leadership Through Self-Management

Sr.No	Roll No.	Name of Student	AC101a	AP101	CE101	EN103	VAC11	SGPA	тс	CGPA	Failed Courses
31.100	NUI NO.	Name of Student	4.00	4.00	4.00	2.00	2.00	JULA		CGFA	Falleu Courses
30	23/EP/124	DEEPANSHI ANTIL	B+	В	С	B+	A+	6.5	16		

Hadhukag ..

OIC (Results)



Bachelor of Technology in Engineering Physics, I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING -II EP103 : ENGINEERING PHYSICS WORKSHOP-I VAC11 : Leadership Through Self-Management

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	EE105	EP103	VAC11	SGPA	тс	CGPA	Failed
51.140			4.00	4.00	4.00	4.00	2.00	2.00	JGFA	10	CGFA	Courses
31	23/EP/011	AMIRUDDIN ANSARI	B+	B+	B+	С	0	0	7.2	20	7.2	

AC101a: APPLIED CHEMISTRY AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING -II PE103: WORKSHOP PRACTICE VAC11: Leadership Through Self-Management

Sr.No	Roll No.	Name of Student	AC101a	AP101	EE105	PE103	VAC11	SGPA	тс	CGPA	Failed Courses
31.100	non No.	Name of Student	4.00	4.00	4.00	2.00	2.00	JGFA	10	CGFA	Failed Courses
32	23/EP/136	SHIVAM PARMAR	С	B+	B+	A+	Α	6.88	16		

AC101a: APPLIED CHEMISTRY AM101: MATHEMATICS-I AP101: PHYSICS - I BT103: APPLIED AQUACULTURE EC101: BASIC ELECTRONICS & COMMUNICATION ENGINEERING VAC13: Negotiation & Leadership

[Sr.No Roll No.	Boll No	Name of Student	AC101a	AM101	AP101	BT103	EC101	VAC13	SGPA	тс	CGPA	Failed
			Name of Student	4.00	4.00	4.00	2.00	4.00	2.00	JGFA		CGFA	Courses
[33	23/EP/130	PRANAV BOTHRA	Р	Р	С	Α	С	В	5	20	5	

AC101a: APPLIED CHEMISTRY AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING -II EP103: ENGINEERING PHYSICS WORKSHOP-I VAC13: Negotiation & Leadership

Hadhukag ..

OIC (Results)



Bachelor of Technology in Engineering Physics, I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	EE105	EP103	VAC13	SGPA	тс	CGPA	Failed
51.140	non No.	Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	JULA	10	COFA	Courses
34	23/EP/017	ANSH BIRODHIYA	B+	В	С	Р	0	B+	6.1	20	6.1	
35	23/EP/034	DEVYANSH BHATTACHARYA	Α	Α	B+	С	A+	A+	7.4	20	7.4	
36	23/EP/053	KRISH YADAV	B+	B+	В	С	Α	Α	6.6	20	6.6	
37	23/EP/057	MAYANK GARG	В	Α	С	F	Α	Α	5.4	16		EE105

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING -II EP103 : ENGINEERING PHYSICS WORKSHOP-I VAC16 : Professional Ethics & Human Values

Sr No	Roll No.	Name of Student	AC101a	AM101	AP101	EE105	EP103	VAC16	SGPA	тс	CGPA	Failed
Sr.No		Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	JGFA		CGFA	Courses
38	23/EP/041	HARSHITA BOSE	A+	0	0	Α	A+	0	9.3	20	9.3	

AC101a : APPLIED CHEMISTRY AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EN103 : WATER AND WASTEWATER ANALYSIS VAC19 : Science & Practice Of Happiness

Γ	Sr.No Roll No	Boll No	Name of Student	AC101a	AP101	CE101	EN103	VAC19	SGPA	тс	CGPA	Failed Courses
		non No.	Name of Student	4.00	4.00	4.00	2.00	2.00	JULA		COFA	Talled Courses
	39	23/EP/123	ASHRAY APOORVA	Р	Р	Р	В	С	4.38	16		

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING -II EP103 : ENGINEERING PHYSICS WORKSHOP-I VAC20 : Sports I

(Hadhukag ..

OIC (Results)



Bachelor of Technology in Engineering Physics, I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	EE105	EP103	VAC20	SGPA	тс	CGPA	Failed
31.110			4.00	4.00	4.00	4.00	2.00	2.00	JOFA		COFA	Courses
40	23/EP/007	ADITYA KUMAR	В	B+	B+	С	A+	A+	6.8	20	6.8	
41	23/EP/023	ARPIT SHARMA	F	Р	С	Р	A	B+	4.1	16		AC101a
42	23/EP/024	ARYAN KUMAR MEENA	В	Р	Р	Р	B+	A+	5.2	20	5.2	
43	23/EP/027	AYUSH ANAND	В	Р	Р	Р	A+	A+	5.4	20	5.4	
44	23/EP/038	DIVYANSHU YADAV	B+	В	B+	P	A	A	6.4	20	6.4	
45	23/EP/042	HIMANSHU	B+	B+	В	С	A	A+	6.7	20	6.7	
46	23/EP/078	RAUNAK GUPTA	С	A	В	A	B+	A	6.9	20	6.9	
47	23/EP/100	TANISH RANA	В	С	B+	B+	0	A+	6.9	20	6.9	

AC101a: APPLIED CHEMISTRY AM101: MATHEMATICS-I AP101: PHYSICS - I EE105: BASIC ELECTRICAL ENGINEERING -II EP103: ENGINEERING PHYSICS WORKSHOP-I VAC21: Sports II

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	EE105	EP103	VAC21	SGPA	тс	CGPA	Failed Courses
51.140			4.00	4.00	4.00	4.00	2.00	2.00	JGFA		COFA	Falleu Courses
48	23/EP/029	BHARAT SAGAR	С	F	F	Р	A+	В	3.3	12		AP101 AM101
49	23/EP/030	BHAVY PAREWA	Р	F	Р	Р	Α	B+	3.9	16		AM101
50	23/EP/050	JIGYASU SOLANKI	A+	Α	A+	С	A+	B+	7.8	20	7.8	
51	23/EP/059	MOHAMMED AFZAL	Α	A+	B+	Р	Α	В	7	20	7	
52	23/EP/091	SHRIYANSH MALIK	B+	В	B+	B+	B+	Α	6.9	20	6.9	
53	23/EP/093	SHUBHAM HOODA	Α	В	B+	Α	A+	A+	7.6	20	7.6	
54	23/EP/101	TANMAY GAKHAR	А	B+	B+	А	Α	A	7.6	20	7.6	

Cadhukag ..

OIC (Results)



Bachelor of Technology in Engineering Physics, I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

55	23/EP/102	TARIQUE IQBAL	F	Р	В	В	A+	B+	4.8	16	 AC101a
56	23/EP/116	YASH RAHANGDALE	Р	Р	F	В	B+	A+	4.4	16	 AP101

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING -II EP103 : ENGINEERING PHYSICS WORKSHOP-I VAC22 : Universal Human Values: I Self-Family

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	EE105	EP103	VAC22	SGPA	тс	CGPA	Failed
51.140	HOILING.	Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	JGFA		CGFA	Courses
57	23/EP/066	NITESH AGGARWAL	В	Α	A+	B+	Α	Α	7.6	20	7.6	
58	23/EP/108	VAISHNAV YADAV	С	С	С	B+	Α	B+	5.9	20	5.9	

AC101a : APPLIED CHEMISTRY AP101 : PHYSICS - I EP103 : ENGINEERING PHYSICS WORKSHOP-I VAC24 : Universal Human Values: Understanding Harmony

Sr No	Roll No.	Name of Student	AC101a	AP101	EP103	VAC24	SGPA	тс	CGPA	Failed Courses
Sr.No	HOILING.		4.00	4.00	2.00	2.00	JUFA		CGFA	Falled Courses
59	23/EP/075	PRIYANSHU	F	F	F	F	0	0		EP103 VAC24 AC101a

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING -II EP103 : ENGINEERING PHYSICS WORKSHOP-I VAC24 : Universal Human Values: Understanding Harmony

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	EE105	EP103	VAC24	SGPA	тс	CGPA	Failed
51.110			4.00	4.00	4.00	4.00	2.00	2.00	JGFA	10	CGFA	Courses
60	23/EP/043	HIMANSHU BISWAS	В	С	В	Р	Α	В	5.6	20	5.6	
61	23/EP/044	HIMANSHU SAHU	Α	A	В	Р	A	B+	6.7	20	6.7	

fladhukag ..

OIC (Results)



Bachelor of Technology in Engineering Physics, I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

62	23/EP/063	NAVED	B+	С	С	B+	Α	В	6.2	20	6.2	
63	23/EP/064	NIKUNJ WAHIE	Α	A+	Α	Α	B+	B+	8	20	8	

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING -II EP103 : ENGINEERING PHYSICS WORKSHOP-I VAC25 : Value Driven Leadership

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	EE105	EP103	VAC25	SGPA	тс	CGPA	Failed
51.110	noi No.		4.00	4.00	4.00	4.00	2.00	2.00	JOFA		CGFA	Courses
64	23/EP/051	KARTHIK MISHRA	A+	В	A+	Р	Α	Α	7.2	20	7.2	
65	23/EP/085	SAHIL GUPTA	A+	B+	A	A+	A+	A	8.3	20	8.3	

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING -II EP103 : ENGINEERING PHYSICS WORKSHOP-I VAC27 : Introduction to Environmental Science

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	EE105	EP103	VAC27	SGPA	тс	CGPA	Failed
51.140			4.00	4.00	4.00	4.00	2.00	2.00	JGFA		COFA	Courses
66	23/EP/009	ADITYA TIWARI	Α	B+	B+	С	A	A	7	20	7	
67	23/EP/010	AKSHAT JAIN	0	0	A	A+	A	B+	8.9	20	8.9	
68	23/EP/015	ANISH SHARMA	B+	В	A	В	A	B+	6.9	20	6.9	
69	23/EP/019	ANUBHAV KUMAR	В	F	F	С	A	С	3.5	12		AP101 AM101
70	23/EP/021	ARPIT	B+	В	В	С	A	С	6.1	20	6.1	
71	23/EP/028	AYUSH YADAV	0	A+	0	B+	0	A+	9.1	20	9.1	
72	23/EP/033	DAKSH MALHOTRA	B+	В	B+	Р	A	A	6.4	20	6.4	
73	23/EP/039	GARV KOLI	A	В	A	С	A	B+	6.9	20	6.9	

Hadhukag ..

OIC (Results)



Bachelor of Technology in Engineering Physics, I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

74	23/EP/047	ISHAAN SINGHAL	Α	A+	B+	В	Α	A+	7.7	20	7.7	
75	23/EP/049	JATIN MAGGO	0	A+	A+	Α	А	A+	8.9	20	8.9	
76	23/EP/054	LAKSHAY	В	F	с	Р	B+	С	4.2	16		AM101
77	23/EP/056	MANAV	С	F	Р	Р	Α	С	3.9	16		AM101
78	23/EP/060	MRIDUL MOR	Α	0	С	В	Α	B+	7.3	20	7.3	
79	23/EP/065	NISHANT SHARMA	Α	B+	Α	B+	Α	С	7.3	20	7.3	
80	23/EP/074	PRINCE BIND	В	Р	В	Α	Α	С	6.1	20	6.1	
81	23/EP/079	RIA MISHRA	0	A+	Α	A+	0	A+	9.1	20	9.1	
82	23/EP/080	RISHI GUPTA	Α	B+	A	Α	Α	Α	7.8	20	7.8	
83	23/EP/087	SATYA PRAKASH KUSHWAHA	В	С	С	B+	Α	В	6	20	6	
84	23/EP/089	SHIVAM	B+	В	B+	Α	A+	B+	7.2	20	7.2	
85	23/EP/095	SIDDHARTH BANSAL	A+	Α	A	A+	A+	B+	8.4	20	8.4	
86	23/EP/097	SOUMIL JUNEJA	A+	Α	0	A+	Α	B+	8.7	20	8.7	
87	23/EP/113	YASH JAIN	B+	Α	A+	Α	Α	Α	8	20	8	
88	23/EP/114	YASH KUMAR	F	F	С	Р	Α	Р	3	12		AM101 AC101a
89	23/EP/117	ANTAL SIBY	Р	Р	С	B+	Р	С	4.9	20	4.9	

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING -II EP103 : ENGINEERING PHYSICS WORKSHOP-I VAC5 : Emotional Intelligence

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	EE105	EP103	VAC5	SGPA	тс	CGPA	Failed
31.110	NOILINO.		4.00	4.00	4.00	4.00	2.00	2.00	JGFA		CGFA	Courses
90	23/EP/026	AYAN PAL	B+	B+	B+	В	A	B+	6.9	20	6.9	
91	23/EP/090	SHIVAM GARG	B+	B+	B+	B+	B+	B+	7	20	7	

fladhukag ..

OIC (Results)



Bachelor of Technology in Engineering Physics, I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING -II EP103 : ENGINEERING PHYSICS WORKSHOP-I VAC6 : Extension Outreach Activities

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	EE105	EP103	VAC6	SGPA	тс	CGPA	Failed Courses
51.110		Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	JULA		CGFA	Falled Courses
92	23/EP/003	ABHAY RAWAT	С	Р	F	F	B+	Α	3.3	12		AP101 EE105
93	23/EP/006	ADISHREE SAHOO	Α	B+	С	С	A+	A+	6.8	20	6.8	
94	23/EP/046	ISHAAN KATHERIA	F	F	F	F	A	F	0.8	2		AP101 AM101 EE105 VAC6 AC101a
95	23/EP/048	JANAK RAJ GOYAL	B+	A	A	В	A	0	7.6	20	7.6	
96	23/EP/052	KARTIK PANDEY	B+	A+	B+	Р	A	0	7.2	20	7.2	
97	23/EP/068	PARTH VERMA	A+	A+	A+	B+	0	A+	8.7	20	8.7	
98	23/EP/077	RATINDERJEET SINGH	С	С	В	B+	A	A+	6.3	20	6.3	
99	23/EP/082	RITVIK SAGAR	С	Р	В	В	A+	A+	6	20	6	
100	23/EP/084	SACHIN RATHORE	С	С	В	A	A	A+	6.5	20	6.5	
101	23/EP/092	SHUBHAM BISWAS	Α	В	B+	A	A+	A+	7.6	20	7.6	
102	23/EP/098	SOURAV LAL	F	F	F	F	A	F	0.8	2		AP101 AM101 EE105 VAC6 AC101a
103	23/EP/099	SUMIT JHA	B+	В	A	B+	В	A+	7.1	20	7.1	
104	23/EP/104	TUSHAR SINGH	В	С	В	B+	B+	A+	6.4	20	6.4	
105	23/EP/112	YASH	С	Р	В	B+	A	A+	6.1	20	6.1	

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING -II EP103 : ENGINEERING PHYSICS WORKSHOP-I VAC9 : Introduction to Biological Science

(Hadhukas ..

OIC (Results)



Bachelor of Technology in Engineering Physics, I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

ſ	Sr No	Roll No.	Name of Student	AC101a	AM101	AP101	EE105	EP103	VAC9	SGPA	тс	CGPA	Failed
	Sr.No	non No.	Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	JULA	10	COFA	Courses
[106	23/EP/096	SNEH RAI	B+	Α	B+	A+	А	B+	7.7	20	7.7	

AE103 : WORKSHOP PRACTICE AEC10 : German AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EE101 : BASIC ELECTRICAL ENGINEERING

Sr.No	Roll No.	Name of Student	AE103	AEC10	AM101	AP101	CE101	EE101	SGPA	тс	CGPA	Failed
51.140		Name of Student	2.00	2.00	4.00	4.00	4.00	4.00	JULY		COFA	Courses
107	23/EP/127	MAYANK CHOUDHARY	A	A	Р	B+	B+	Р	6	20	6	

AE103 : WORKSHOP PRACTICE AEC19 : Technical Communication AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EE101 : BASIC ELECTRICAL ENGINEERING

Sr.No	Roll No.	Name of Student	AE103	AEC19	AM101	AP101	CE101	EE101	SGPA	SCDA	SCDA	тс	CGPA	Failed
		Name of Student	2.00	2.00	4.00	4.00	4.00	4.00	JGFA	IC.	CGFA	Courses		
108	23/EP/121	ANKIT KUMAR	В	В	F	В	С	B+	4.8	16		AM101		

AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EE101 : BASIC ELECTRICAL ENGINEERING ME103 : WORKSHOP PRACTICE VAC20 : Sports I

Sr.No	Roll No.	Name of Student	AM101	AP101	CE101	EE101	ME103	VAC20	SGPA	тс	CGPA	Failed
		Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	JGFA		COFA	Courses
109	23/EP/125	HIMANSHU	В	A	Α	B+	A+	0	7.7	20	7.7	

Padhukag ..

OIC (Results)



Bachelor of Technology in Engineering Physics, I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

AE103 : WORKSHOP PRACTICE AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EE101 : BASIC ELECTRICAL ENGINEERING VAC20 : Sports I

Sr.No	Roll No.	Name of Student	AE103	AM101	AP101	CE101	EE101	VAC20	SGPA	тс	CGPA	Failed
	HOILING.	Name of Student	2.00	4.00	4.00	4.00	4.00	2.00	- SGPA	10	CGFA	Courses
110	23/EP/129	PIYUSH TIWARI	Α	Р	Α	A	B+	B+	6.9	20	6.9	

AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EE101 : BASIC ELECTRICAL ENGINEERING ME103 : WORKSHOP PRACTICE VAC22 : Universal Human Values: I Self-Family

Sr.No Ro	Roll No.	Name of Student	AM101	AP101	CE101	EE101	ME103	VAC22	SGPA	тс	CGPA	Failed
	RUII NO.		4.00	4.00	4.00	4.00	2.00	2.00	JOFA	IC.	CGPA	Courses
111	23/EP/138	YASHI JHA	В	В	В	В	A+	B+	6.4	20	6.4	

AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EE101 : BASIC ELECTRICAL ENGINEERING ME103 : WORKSHOP PRACTICE VAC27 : Introduction to Environmental Science

Sr.No	Roll No.	. Name of Student	AM101	AP101	CE101	EE101	ME103	VAC27	SGPA	тс	CGPA	Failed
	Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	JULA		COFA	Courses	
112	23/EP/135	SAMARTH BANSAL	A	Α	B+	A	A	B+	7.7	20	7.7	
113	23/EP/141	BHAVIT JAIN	Α	A+	A+	A	A	0	8.6	20	8.6	
114	23/EP/131	PRIYANJAN MITRA	С	В	В	С	0	0	6.4	16		

fladhukag ..

OIC (Results)



Bachelor of Technology in Engineering Physics, I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

AE103 : WORKSHOP PRACTICE AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EE101 : BASIC ELECTRICAL ENGINEERING VAC27 : Introduction to Environmental Science

Sr.No Roll No.	Roll No.	Name of Student	AE103	AM101	AP101	CE101	EE101	VAC27	SGPA	тс	CGPA	Failed
		2.00	4.00	4.00	4.00	4.00	2.00	JGFA		CGPA	Courses	
115	23/EP/133	RACHIT ARORA	A	В	А	A+	B+	B+	7.5	20	7.5	
116	23/EP/137	VARUN	B+	Р	B+	В	В	B+	6	20	6	

AE103 : WORKSHOP PRACTICE AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EE101 : BASIC ELECTRICAL ENGINEERING VAC3 : Corporate Social Responsibility

Sr.No	Roll No.	Name of Student	AE103	AM101	AP101	CE101	EE101	VAC3	SGPA	тс	CGPA	Failed
		Name of Student	2.00	4.00	4.00	4.00	4.00	2.00	JOFA		CGFA	Courses
117	23/EP/132	PRIYANSHU TANWAR	С	F	В	В	F	В	3.5	12		EE101 AM101

AE103 : WORKSHOP PRACTICE AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EE101 : BASIC ELECTRICAL ENGINEERING VAC6 : Extension Outreach Activities

Sr.No	Roll No.	Name of Student	AE103	AM101	01 AP101 CE101 EE101 VA	EE101 V		SGPA	тс	CGPA	Failed	
	non No.		2.00	4.00	4.00	4.00	4.00	2.00	JULA			Courses
118	23/EP/134	RUDRAKSH NIGOTIA	В	С	B+	B+	B+	A+	6.7	20	6.7	

Hadhukag ..

OIC (Results)